



Quote # 332015-0002

	Methodics-da	Qty	Price/ea*	Total
Item#				
1	Lopoco LP-6240-8H Server	1	\$3,445.00	\$3,445.00
	12 Logical Core, 2.4 GHz 2.8 GHz turbo, 15M cache 1U Rackmount cabinet 8 Hot swap disk bays 2 10Gigabit LAN ports 1 IPMI+KVM LAN port 32 GB ECC DDR3 memory			
	512GB Class [†] SATA3 SSD	2	\$280.00	\$560.00
	1TB Class [†] SATA3 SSD	2	\$464.80	\$929.60
	Intel dual port X540-T2 10G NIC	0	\$450.80	\$0.00
	Tax	8.75%		\$431.78
	Shipping			\$0.00
	Additional 2 year limited warranty (not incl.)		\$320.00	\$320.00
	Total		\$5,686.38	

Notes: no 1G LAN ports

*Included in price:

1 Year limited hardware warranty Software installation (cost of software may be extra) Hardware installation in Methodics HE colo



Quote # 332015-0002

				1
	Methodics-da	Qty	Price/ea*	Total
n#				
	Lopoco LP-8180-8H Server	1	\$3,134.20	\$3,134.20
	16 Logical Cores, 1.8GHz 2.9 GHz turbo, 20M cache 1U Rackmount cabinet 8 Hot swap disk bays 2 10Gigabit LAN ports 1 IPMI+KVM LAN port 32 GB ECC DDR4 memory			
	512GB Class [†] SATA3 SSD	2	\$280.00	\$560.00
	1TB Class [†] SATA3 SSD	2	\$464.80	\$929.60
	Intel dual port X540-T2 10G NIC	1	\$450.80	\$450.80
	Tax	8.75%		\$444.03
	Shipping			\$0.00
	Additional 2 year limited warranty (not incl.)		\$320.00	\$320.00
	Total		\$5,838.63	<u> </u>

Notes: 16 logical cores, 20M cache

*Included in price:

1 Year limited hardware warranty Software installation (cost of software may be extra) Hardware installation in Methodics HE colo



Quote # 332015-0002

			and the second s	A CONTRACTOR OF THE PROPERTY O
	Methodics-da	Qty	Price/ea*	Total
em#			'	
	Lopoco LP-8200-8H Server	1	\$2,900.20	\$2,900.20
	16 Logical Core, 2.0 GHz 2.6 GHz turbo, 12M cache 1U Rackmount cabinet 8 Hot swap disk bays 2 10Gigabit LAN ports, 2 Gigabit LAN ports 1 IPMI+KVM LAN port 32 GB ECC DDR4 memory			
	512GB Class [†] SATA3 SSD	2	\$280.00	\$560.00
	1TB Class [†] SATA3 SSD	2	\$464.80	\$929.60
	SATA3 PCIe 2 port controller	1	\$50.00	\$50.00
	Tax	8.75%		\$388.48
	Shipping			\$0.00
	Additional 2 year limited warranty (not incl.)		\$320.00	\$320.00
	Total		\$5,148.28	

Notes: 16 logical cores, 12M cache but 2.0GHz clock. Built in 10G and 1G LAN ports

*Included in price:

1 Year limited hardware warranty Software installation (cost of software may be extra) Hardware installation in Methodics HE colo



Quote # 332015-0002

	Methodics-da	Qty	Price/ea*	Total
Item#		'	1	
1	Lopoco LP-6200-8H Server – refurbished	1	\$2,307.00	\$2,307.00
	12 Logical Core, 2 GHz 2.4 GHz turbo, 15M cache 1U Rackmount cabinet 8 Hot swap disk bays 2 Gigabit LAN ports 1 IPMI+KVM LAN port 32 GB ECC DDR3 memory			
	512GB Class [†] SATA3 SSD	2	\$280.00	\$560.00
	1TB Class [†] SATA3 SSD	2	\$464.80	\$929.60
	Intel dual port X540-T2 10G NIC	1	\$450.80	\$450.80
	Tax	8.75%		\$371.65
	Shipping			\$0.00
	Additional 2 year limited warranty (not incl.)		\$320.00	\$320.00
	Total		\$4,939.05	

Notes: refurbished, 12 logical cores, 15M cache but 2.0GHz clock.

*Included in price:

1 Year limited hardware warranty Software installation (cost of software may be extra) Hardware installation in Methodics HE colo